SETACLINK(fx,val) { if(S!(fx->aIink&1 ))fx->blink=fx-DLWORDSPER_CELL;

SETCLINK(fx,val) { fx->clink=val+FRAMESIZE; be>dlink-val ERAMESIZE;
if(I(fx->alink & 1)) { fx->blink=fx-DLWORDSPER_CELL; =
fx->alink |= 1}

GETBLINK(fx) ) )

(x->alink &1) ? fx->blink SETALINK(fx,val) {if( !(ix->alink&1)) { SETBLINK(fxval) { fx->blink=val;

- ix-DLWORDSPER_CELL fx->blink=fx - DLWORDSPER_CELL; if(l(fx->alink & 1)) ' )
fx->clink=fx->alink} { fx->clink= fx->alink; fx->alink |= 1;}}

fx->alink=val+FRAMESIZE+1;

\dohardreturni(hrframe)

hframe->framename | hrframe=hrframe->clink
==\CONTEXTSWITCH

returner= hrframe->clink

Checking whether this frame is HARDRETURN or not
returnee = retuner->clink

checkFX(retunee) && checkFX(retuner) &&(returner- >slowp) &&
((retuner->alink & Oxfffe) |= retunee) ||

retunee |= (ax=(retuner->alink&0xfffe)) < | SETALINK(retuner->alink,retunee)decusecount(ax)
goto DOIT
retunee->| 0 <
usecount !=
ax= retunee->nextblock |

for((new=ax+ax->size);new->flags==STK_FSB;

new=ax+ax->size)

_I ax->size += New->size

ax->flags
==STK_FSB ax->size < MINEXTRASTACKWORDS < | goto DOIT |

gOtO LAST | oldax=ax

ax=GETBLINK(retuner)

goto DOIT
s 1=
DOIT goto DOIT
size=(retunee->nextblock -retunee) |
goto DOIT
(ret lidnametable)&& nametol_on_sti=1
retunee->validnametable
- i0)=— align =(retunee-DLWORDSPER_CELL)%
((retunee->nametablehi2) STK.HI< DLWORDSPER_QUAD
new=FREESTACKBLOCK(size,retuner,align)
blt( STK_OFFSET|new, STK_OFFSET | (retunee-DLWORDSPER_CELL)
new->residual=T
new+=DLWORDSPER_CELL
new->nextblock= (new+size)-DLWORDSPER_CELL
retbf= GETBLINK(retunee) GETCLINK(fx) (fx->alink &1) ? (fx-clink-FRAMESIZE)

¢ (fx->alink-FRAMESIZE)
SETBLINK(new, retbf)

GETALINK(fx) (fx->alink& Oxfffe) -FRAMESIZE
new->usecount=0

nametbl_on_stack

|
< | new->nametblelo +=new-retunee

retnf->usecnt ++

if(!(reutnee->alink &1)) {
retunee->blink=retunee-2;
retunee->clink=retunee->alink

retunee->alink |=1
incusecount(tmp=GETCLINK(retunee))

tmp =(ax=GETALINK(retunee)) < | MCUSEeoUNt((ax) |

decusecount(retunee)
SETACLINK(retuner,new)
retunee=new

LAST]

smashlink(hrframe , retunee ,retunee)




